PRIMARY 3 WEIGHTED ASSESSMENT

Name: { }
Class: Primary 3{ - } Time: 2.30 a.m. — 10.15 a.m.
Parent's Signoature: Marrks: / 25

MATHEMATICS

INSTRUCTIONS TO CANDIDATES

.

A

Write your name, class and regisier number.

Do not tum over this page uniil you are fold o do so.
Follow all insfructions carefully.

Answer all questions.

The duration for paper is 45 min yfes.

BP-387




BP-~388



BP-~389

Seclion A

Short Answer Questions
Questions 1 to 10 carry 1 mark each. Write your answers in fhe boxes
pravided. For questions which require units, give your answers in the units

stated. {10 mairks]
1. 4979 is tens more than 4778.
2. Form the smallest 4-digit odd number using alf the digits 3, 1,0, 8.
3. )
7 5 Rl

What is the missing number in the box?
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4. Mary has 3 fifty-cent coins, 17 ten-cent coins ang 12 five-cent coins in
her coin box. How much money does Mary have in her coin box?

_4+—— Jane’s pocket money —¥

$6
—

Spent

How much pocket money did Jane have at first?

6. what digit does (7 represent?




7. Study the following paftern and find the missing number.
18 40 38 153
L3 1 6 8 |1 ?
8. The sum of two numbers is 430.
The smaller number is 120. What is the greater number?
Q. How much do the following items cost altogether?
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10. Divide 754 by 4. What is the remaindex?
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Secfion B
Questions 11 fo 15 cany 3 marks each,
Show all your workings and statements clearly. [15 marks]

t1. Haron and Bala have 192 stamps alfogether.
Bala has 3 fimes as many stamps as Haron.
How many stamps does Héron have?
Draw a model. [1 mark]

Haron has stamps.

Ans

12.  On Sunday, 3015 people visited Chinatown.
On Monday, 1527 fewer people visited Chinatown than on Sunday.

How many people visited Chinatown on both days?

people visited Chinatown on both days.

Ans




13. Gopal baked 72 cookies. He put them equally onto 8 trays.
After giving away some frays of cookies, he had 45 cookies left.
How many frays of cookies had he ieft?

F 3

A4

72

1 r—Tor L

Gopat had ... irays of cookies left.

AnNs ;

14. Roy had $30. His father then gave him some money.
After spending $15 on a storybook, Roy had $38 ieft.

How much money did Roy receive from his father?

Roy received from his father.

Ans:
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15. Study the pattem.

O 2 900 2 00006

Figure1  Figure 2 Figure 3 Figure 4 Figure 5
(a) Complete the table. (b} Draw Figure 2.
Figure | Number of JAN

1 2

2

3 6

4

5 10
{c) Figure has 20 triangles.

Ans: (c)

End of Paper

7
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LEVEL : PRIMARY 3

SCHOOL : TAO NAN SCHOOL

SUBIJECT : MATHEMATICS

TERM : WEIGHTED ASSESSMENT 3

Q1 |20
Q2 |1083
Q3 |676

Q4 |1.5+0.6+1.70=3.80

Q5 |24

Qe |4
Q7 |17
Q8 |310
Q9 4.90
Qio |2

Q11 |192:4=48

Q12 |3015-1527 = 1488
3015+1488 = 4503

Q13 |72:8-=9
45+9 =5
9x5 =45
Ans:5

Ql4 |30-15=15
38-15=23
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Q15

b)

C)10

Figure Number of A
1 2
2 4
3 6
4 8
5 10

.



2024 PRIMARY 3 PRACTICE PAPER

Namer, . ot ) Pates .

Class: Prirnaiv 3 (- |

Parent's Sigriatures. . . . Marks: ] 50

MATHEMATICS

 INSTRUCTIONS 10 CANDIDATES
- 1w Wrife your name; class and register number.

2. Dondtfum over this page until you are fold to do so.
Follow all instruetions carefully.

4. Answerall questions. |

5. The duration for this paper 1 hour 20 min,

SecfionA | -~ 15

Section | 15 ||
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Seciion &
Queastions 1 1o 5 carry 1 mark each. Questions &1o 10.carry 2 marks each,
Foreuachquestion, four oplions are: given, One of thentls the comrect answer.
Make your choice {1, 2. 3 Ql’ 4} and shcde youronswer on the Optical Answer
-Sheeh _ L [1 5 marks]

1. in 9817, the digit 8isinthe________place.
(1} ones.
{2y tens
(3}  hundreds
{4 thovsdnds

2. Whatdigit does A represent?

o
g
Njoo a

po X
o]
<

[&h:
(2)
(3}
4

OOy R

5 Wiich of the followings the sduivalent fraction of 5 7
n
{2
3

4

dle Bla =io wr
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Justin bought a pizzer: His two brothers eqéh -Qi’a%' of fhe piza.
Hehad ______ ofthe pizza feft,

U

(2}

(4

ovlut sl ovlw Gl

Aplece: of wire, 811 long. i cut info 2 pleces. Ong piesgis 4 m 6 cim
long, What is the length of the other plece? ,

{1}
)
@

(4

3m4cm
gm 94 cm
iméem
4?4 em

Study the: picture below.

leﬁuce

The miass of the lefticeis_____ d.

3y
(2]
(3)
(4)

500
550
400
650
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7.

The side of the square belowis 9 em. Find the areg of fhe: squars,

gom

() 18cme
2] 36cm?
3 Z2cm?
4y 8lcnr

The figures below are mdde Up of 1-m squares.
Which 2 figiires hive the samme areq and perimeter?

{1) Adnhds
2 AgrC
3 BdandC

4  CandD
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10.

)

How

How many a;ng}_esz gire thera within, sﬁfﬁahfglé;s qnd 3 rectongles?
i1y
3 .15

(4 21

The picture graph below shows the number of rasers that
3 ehildrer have.

Name of child Number of erasers

Nanoy *k Y %k

Rani | & &

Adier ﬁ' K Kk Kk K

" Eash e stands for 3 eraseis, -

My ThoTe srasers does Aéﬂiéi* have fhiah Nariey?
(1) 3

2y 1z

® 7

(4

BP-~403




Section B |

Guestions 11 1o 15 canry 1 mork sach. Questions 16 16,20 cary 2 marks sach.
Wilte. your aniswers i the boxes provided.: Fer questions which requlre. units,
give your ariswers inthe urits stated, [15 marks]

U Atelevision progiamine started af 3,55 p.m. and ended 1h 15 rmin loter.

What time did the pregramme end?

SAH0

12, Whaot fraetion of fhig figure shown belowis unshaded?
Write tha fiaction in its simplest form,

13.  Jina bought seme flous She used - s of the flour to miake brownies, -

5 of it to make cookies end % of it to. make tuffins.

What fraction of e floor did she use?
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14,

Drav ¢ sticight-line GD that is pareliel fo ABin the grid below,

i,

Study the canfdlniers shown: below,
Find the total volume ofwater.

ml |
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14, Anumber is between 36 and 45. When it i dlivided by 4, e remainder
s 0, When Itis divided by 6. the remiainder is 2. What is the ntrogr?

17, Annabelié bought 2 cups of drinks and @ buo.
Haw much did she spend cogether?

BP~406
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The figure: below Is o rectarigle, Diaw 2 stralght lires i it so thaf you wil

get o totat of 12 right angles.

Ie.

David is éysars ald. Shawn is 30 years old. How ald will David be when

Shown's'age s 4 fitmes that of David's age 2

Yeasold

BP~407




20. The incomplete picture giaph below shows the numberof cokes sold by
Mrs, Lee frorm Monday o Fiday.

| Terdey Wednesday | Thursday Friday

Each - stomnds for 10 cakes.

DPHOHDD

I DDDD
}>D>}

Mrs. Lee sold 50 more celkes on Fiday than of Thursday.,
Draw the tidrigles to complete the picture graph obove.




SectionC
Questions 21 1625 oy 4 marks sgch, $How your warking deerlyand wite your

answers in e sp

aces provided, For guastions which redulre units, give your

answers in the unils squed [20 marrks]

- 21,

i Ling bought o reafcinég;‘u{ar"piétze'~bf*wré_9'p"th paper that méasurés
5miby 2. She used a 1-m square placs for his arf project. What afed of
the Wrapping paper was left?

The area

Aniss

Sitmot firiishied paihting his living room angd bedresm af ¥9.30, Hetook
2k 15 min o pairt his ing oo and 40:min less fo point hisbedrsor, He
did riot fake ¢ bredk in befween palnﬂng the twa rooms. At what fiime did
e start paintihg? - .

10

BP-~409




23, '3 tennis rackels ond 4 baskethalls:cost $247.50.
Ftenhis rackets and 2 beskathals cost §172.50.
What s the cost of 3 feninis rackeds?

The cost

Anst

94, Boltles A B arid G contain ¥350 ml of apple juice altogether,

Boftie A contding 100 mi more apple julea than Botlie B,
Bottle € cortalns- 250 mi more apple pice than Botfle A
How much apple juice does Botile A contain?

Bostle A contains

Ansﬁ_, R A

i}
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25'

Benediet used 84 sticks to make o foldl of 22 friangles and pehtagons.

A triangle was made using 3 sticks ahd & pentagon was made using §
sticks, How many pentagons were thers?

/ Tiangle

Pentagory

Therewere , R s

Ansy___

End of Paper

T2
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SCHOOL :  TAO NAN PRIMARY SCHOOL

LEVEL : PRIMARY 3 '
SUBJECT MATHEMATICS

TERM : PRACTICE PAPER
BOOKLET A

Q1 |a2 |a3 |a4 |@5 |0 a7 a8 |ae |ato
3 |t |4 3 f2 |2 |4 |2 |4 |2

Q11 | 5.10pm
Q12

Q13

QU4 | T T T T T T T

Q15 | 1700ml
Q16 {44

Q17 | $4.45
Q18 |




Q19 |
Q20
Q21 |5x2=10
110-1=9
| The area left was 9cm’.
1Q22 |135-40=95
135 + 95 = 230
20min . 3h 30 min
15 40 16 00 1900 1830
| Simon started painting at 1540
Q23 | $247.50 - $172.50 = $75
$172.50 - $75 = $97.50
| The cost of 3 tennis rackets is $97.50.
Q24 | 1350mi - 100ml - 250mi - 100ml = 900m|
900m! + 3 = 300ml
300mli + 100m! = 400m!
Bottle A contains_400m| of apple juice in a bottle.
Q25 [22x3=66

184-66=18
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5-3=2
18+2=9
There were 9 pentagons.

BP-415
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PRIMARY 3

END-OF-YEAR MATHEMATICS REVIEW 1

Name: ( )

Class: Primary 3 { }

Date: Time: 50 min

Marks: : / 20

Parent's Signature:

BP-~417
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Section A ; Multiple Cholce Questions

Questions 1 1o 10 canry 1 mark each.

For each question, four opfions are given. One of them is the correct answer.
Make your choice {1, 2, 3 or 4}.

Shade the correct oval (1, 2, 3 or 4) on the Opfical Answer Sheet. (10 marks}

1. The value of the digif 9 In 5920 s

(9

(2) 90
(3} 900
(4) 9000

2. What is the difference beitween 9733 and 250 ?

{1} 9483
{2} 2523
{3) 9583
{4) 9983
3. Which of the following does not have the same value as % ?

(1)
(2}

(3}

Bl Slw s o

BP~419
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which of the following fractions is the greatesi?
(H)
(2)
(3)

(4)

s Ml BRlwW WIN
tu|““

The tirmne now is 3.20 p.m. What time was it 25 minutes ago?

(1) 2.20 p.m.
(2) 2.55 p.m.
(3) 3.25 p.m.
(4) 3.45 p.m.



6.

Study the lines below carefully. Which line is parallel to XY?

S W. Y
T Q
R

V X P u

{1} PQ

{2} RS

{3} uT

4 VW

{1) 230 g
{2} 260¢g
3} 2300g
{4 2600g

BP~421
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8. The figure below is made up of a rectangie and a riangle.
Find the perimeter of the figure.

10 cm
7em 7om i
10 em
{1) 34 cm
(2} 43 em
{3) 50cm
(4) 57 cm
Q. The figure below is made up of 7 identical équores. Find the areaqa of
the figure.
S5cm
>
(1) 175 cm?2
{2} 140 cm?
{3) 25 cm?
(4}  80cm?



10.

the graph shows the number of watermelons o fruit seller sold ai
funfair.

Fruit Seller A

Fruit Seller C

Fruit Selier [

@
Fruit Seller B @
@
@

eeee
e8 e

@
OO

Each @ stands for 4 watermeions.

Fruits Sellers B, C and D sold watermelons altogether.
(1} 56
{2} 48
(3} 14
{4} 12

BP~423
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Section B : Short Answer Questions

Questions 11 to 20 carry 1 mark each. Write your answers in the boxes
provided. For questions which require units, give your answers in the units
stated. (10 marks}

1. What is the missing number in the box?

28 5 2
+ ¢ 0 1

8 9 23

12, Mr Wong bought two shirts.
He gave the cashier $140 and received $3.40 as change.
which two shiris did he buy?




3
13. Mark wanis fo shade yy of the figure below. How many more squares
must be shaded?

14. Edwin studied from 3.10 p.m. 10 4.55 p.m. How long did he study?

h mirt

15. s the angle below greater or smaller than a right angle?

———— than aright angle

BP~425
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6 t.3=H
5 10 [T

Express your answer in the simplest form.

17. 4 similar cylinders are placed on the balance scale below.
what is the mass of one cylinder?

om—er

18. How many faces does a cube have?

AN

faces

e
P W e ey e Y T
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Study the graph carefully and answer questions 19 and 20.

19. Fandi, Sundram and David ran a fotal of 20 rounds around o running
track. Sundram ran the greatest number of rounds.

Complete the picture graph by filling in the names, Sundram and
Fandi.

3

(SIS

i

David

Fach W stands for 2 rounds.

20. How many fewer rounds did David complete than Sundram?

rounds

End of Paper




BP~428.



LEVEL : PRIMARY 3
SCHOOL : TAO NAN SCHOOL
SUBIJECT : MATHEMATICS

TERM : END OF YEAR REVIEW 1

Ql Q2| Q3 | Q4 Q5| Q6 Q7

Q8

Qs

Q1o

3 1 1 3 2 4 4

Qll |7

Q12 | Shirt Cand Shirt A

Q13 |6

Q14 | 1h45min

Q15 | greater

Q16

b | =

BP~429




Ql7

180

Q18

Q19

v [ Fub

m{?mb:m

Q20

10
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